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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the utility and significance of Financial 

Statements for the various parties interested in a 

business concern. 

O;kolkf;d laLFkk esa #fp j[kus okys fofHkUu i{kksa ds fy, 

foŸkh; fooj.kksa dh mi;ksfxrk rFkk egRo ij ppkZ dhft,A 

2. Define Working Capital. Explain the sources of 

financing working capital requirements.  

dk;Z’khy iw¡th dks ifjHkkf”kr dhft,A dk;Z’khy iw¡th dh 

foŸkh; O;oLFkk ds lzksrksa dks le>kb,A 

3. What do you mean by Capital Structure ? Discuss the 

factors influencing the capital structure of a company. 

iw¡th lajpuk ls vkidk D;k vk’k; gS \ ,d dEiuh ds iw¡th 

lajpuk dks izHkkfor djus okys dkjdksa ij ppkZ dhft,A 

4. With the help of the following ratios regarding XYZ 

Ltd., draw the Balance Sheet of the Company for the 

year 2017 : 

Current Ratio 2.5 

Liquidity Ratio 1.5 

Net Working Capital ` 30,000 

Stock Turnover Ratio (Cost of Sales/ 

Closing Stock) 6 times 



 [ 3 ] S-4 

 A-6 P. T. O. 

Gross Profit Ratio 20% 

Fixed Assets Turnover Ratio (on  cost of 

sales) 2 Times 

Debtor Turnover Ratio 2 Times 

Fixed Assets to Shareholders‟ Net Worth 0.80 

Reserves and Surplus to Capital 0.50 

Long-term loans ` 15,000 

,DlokbZtsM fyfeVsM ls lEcfU/kr fuEufyf[kr vuqikrksa dh 

lgk;rk ls o”kZ 2017 ds fy, dEiuh dh cSysal ‘khV cukb, % 

pkyw vuqikr 2.5 

rjyrk dk vuqikr 1.5 

‘kq) dk;Z’khy iw¡th ` 30,000 

LdU/k vkorZ vuqikr ¼foØ; dh ykxr@vafre 

LdU/k½ 6 ckj 

ldy ykHk vuqikr 20% 

LFkk;h vpy lEifŸk vkorZ vuqikr ¼foØ; dh 

ykxr ij½ 2 ckj 

nsunkj vkorZ vuqikr 2 ckj 

LFkk;h lEifŸk;ksa dk va’k/kkjdksa ds ‘kq) lEifŸk 

ls vuqikr 0.80 

lap; rFkk vf/k’ks”k dk iw¡th ls vuqikr 0.50 

nh?kZdkfyd _.k ` 15,000 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four of the following : 

fuEufyf[kr esa ls fdUgha pkj ij la{ksi esa ppkZ dhft, % 

1. Procedure of Financial Analysis. 

foŸkh; fo’ys”k.k dh izfØ;kA 

2. Differentiate between Fund Flow Statement and Cash 

Flow Statement. 

dks”k izokg fooj.k rFkk jksdM+ izokg fooj.k ds e/; vUrjA 

3. Main objectives of Inventory Control. 

LdU/k fu;a=.k ds eq[; mís’; 

4. Importance of Management Information System 

izca/ku lwpuk iz.kkyh dk egRoA 

5. Requirement of Responsibility Accounting. 

mŸkjnkf;Ro ys[kkadu dh vko’;drkA 

6. The following information is available of Excel Ltd. 

for the year ended 31st March, 2016 : 
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Interest on Debt              ` 4,00,000 

Preference Dividend      ` 2,00,000 

Corporate Tax Rate      30% 

Calculate the degree of financial leverage : 

(i) If EBIT is ` 10,00,000. 

(ii) If EBIT is ` 15,00,000. 

31 ekpZ] 2016 dks lekIr gq, o”kZ ds fy, ,Dlsy fyfeVsM 

dh fuEufyf[kr tkudkjh miyC/k gS % 

_.k ij C;kt            ` 4]00]000 

vf/keku va’kksa ij ykHkka’k   ` 2]00]000 

fuxe dj dh nj         30% 

foŸkh; mŸkksyd ds ifjek.k dh x.kuk dhft, ;fn % 

(i) C;kt rFkk djksa ls iwoZ dh vk; ` 10]00]000 gksA 

(ii) C;kt rFkk djksa ls iwoZ dh vk; ` 15]00]000 gksA 

7. The following information has been extracted from the 

Balance Sheet of F Ltd. as on 31-3-2016 : 

Particulars ` 

Equity Share Capital 400 

12% Debentures 12% 400 

Term Loan (Interest @ 18%) 1,200 

 2,000 
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31&3&2016 dks fuEufyf[kr lwpuk ,Q- fyfeVsM ds 

rqyu&i= ¼cSysal ‘khV½ ls yh x;h % 

fooj.k ` 

lerk va’k iw¡th 400 

12% _.ki= 400 

fe;knh _.k ¼C;kt @ 18%) 1,200 

 2,000 

(a) Determine the weighted average cost of capital of 

the company. F Ltd. had been paying dividends at 

a consistent rate of 20% p. a. Shares and 

Debentures are being traded at par (Assuming tax 

rate of 30%). 

dEiuh dh iw¡th dh Hkkfjr vkSlr ykxr dk fu/kkZfjr 

dhft,A ,Q- fyfeVsM izfro”kZ 20% dh yxkrkj nj ls 

ykHkka’k ns jgh gSA va’k rFkk _.ki= dk ysu&nsu le 

ewY; ij gksrk gS ¼dj dh nj 30% dfYir dhft,½A 

(b) What difference will it make if the current prices 

of the ` 100 shares is ` 160 ? Assuming tax rate 

of 30%). 

;fn ` 100 va’k dk orZeku ewY; ` 160 gks] rks blls 

D;k vUrj iM+sxk \ ¼dj dh nj 30% dfYir 

dhft,½A 
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8. From the following information, calculate the payback 

period of the Project A and Project B and suggest 

which of the two projects should be accepted : 

Years 
Project A 

(`) 

Project B 

(`) 

0 

1 

2 

3 

4 

5 

6 

20,000 

8,000 

6,000 

4,000 

4,000 

5,000 

3,000 

20,000 

3,000 

5,000 

7,000 

2,000 

6,000 

6,000 

fuEufyf[kr lwpukvksa ds vk/kkj ij ifj;kstuk ^v* rFkk 

ifj;kstuk ^c* ds iquHkqZxrku vof/k dh x.kuk dhft, rFkk 

lq>ko nhft, fd bu nks ifj;kstukvksa esa ls dkSu&lh Lohd`r 

gksuh pkfg, % 

o”kZ 
ifj;kstuk ^v* 

(`) 

ifj;kstuk ^c* 

(`) 

0 

1 

2 

3 

4 

5 

6 

20,000 

8,000 

6,000 

4,000 

4,000 

5,000 

3,000 

20,000 

3,000 

5,000 

7,000 

2,000 

6,000 

6,000 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. Management Accounting focuses on the future more 

than the Financial Accounting. (True/False) 

izca/ku ys[kkadu foŸkh; ys[kk dh rqyuk esa Hkfo”; ij vf/kd 

dsfUnzr gksrk gSA   ¼lR;@vlR;½ 

2. Common Size Statements involve expression 

comparisons in percentages. (True/False) 

lekukdkj foŸkh; fooj.kksa ds vUrxZr izfr’kr esa rqyuk O;ä 

djuk lfEefyr gksrk gSA   ¼lR;@vlR;½ 

3. The time required for the conversion of raw materials 

into finished goods sales is called as Receivable 

Conversion Period. (True/False) 

dPps eky dk rS;kj eky ds foØ; gsrq :ikUrj.k dk 

visf{kr le; izkfIr;k¡ :ikarj.k vof/k dgk tkrk gSA  

    ¼lR;@vlR;½ 
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4. Liquidity and Profitability is the foundation of a sound 

financial strategy. (True/False) 

rjyrk rFkk ykHkiznrk foŸkh; O;wgjpuk dh vk/kkjf’kyk gSA  

    ¼lR;@vlR;½ 

Fill in the blanks : 

fjä LFkkuksa dh iwfrZ dhft, % 

5. ........... Leverage establishes relationship between 

Operating Leverage and Financial Leverage. 
----------------- 

mŸkksyd] ifjpkyu mŸkksyd rFkk foŸkh; mŸkksyd ds 

e/; laca/k LFkkfir djrk gSA 

6. ............ is a segment of the organization which is 

primarily responsible for generating sales revenue. 
-----------------

 laxBu dk ,d [k.M gS tks eq[; :i ls foØ; 

izR;k; dks vftZr djus ds fy, mŸkjnk;h gSA 

Indicate the correct answer option : 

mŸkj ds fy, lgh fodYi dk pquko dhft, % 

7. A very high current ratio will : 

(a) Increase the profitability 

(b) Adverse impact on profitability 

(c) Not affect the profitability 

(d) None of the above 

cgqr mPp pkyw vuqikr fuEu esa ls D;k djsxk \ 

¼v½ ykHkiznrk esa o`f) 
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¼c½ ykHkiznrk ij izfrdwy izHkko 

¼l½ ykHkiznrk dks izHkkfor ugha djsxk 

¼n½ mi;qZDr esa ls dksbZ ugha 

8. In Cash Flow Statement, which of the following is 

classified as financing activity ? 

(a) Dividend Distribution 

(b) Sale of Stock 

(c) Sale of Investment 

(d) Interest Received 

jksdM+ izokg] fooj.k esa] fuEufyf[kr esa ls fdl dks 

foŸkiks”k.k xfrfof/k ds :i esa oxhZd`r fd;k x;k gS \ 

¼v½ ykHkka’k forj.k 

¼c½ LdU/k dk foØ; 

¼l½ fuos’k dk foØ; 

¼n½ izkIr C;kt 

9. Net Present value of a proposal indicates : 

(a) Net Incremental Profit 

(b) Net Addition to Wealth 

(c) Total Value of the Proposal 

(d) None of the above 

,d izLrko dk ‘kq) orZeku ewY; bafxr djrk gS % 

¼v½ ‘kq) vfrfjä ykHk 

¼c½ /ku esa ‘kq) o`f) 

¼l½ izLrko dk dqy ewY; 

¼n½ mi;qZDr esa ls dksbZ ugha 
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10. The Traditional Approach to value of the firm assumes 

that : 

(a) There is no optimal capital structure. 

(b) Value can be increased by judicious use of 

leverage. 

(c) Cost of Capital and Capital Structure are 

independent. 

(d) Risk of the firm is independent of capital 

structure. 

QeZ ds ewY; dk ikjEifjd n`f”Vdks.k ekurk gS fd % 

¼v½ b”Vre iw¡th lajpuk ugha gksrh gSA 

¼c½ mŸkksyd ds mfpr mi;ksx ls ewY; c<+k;k tk ldrk 

gSA 

¼l½ iw¡th dh ykxr rFkk iw¡th lajpuk ,d nwljs ls Lora= 

gSaA 

¼n½ QeZ dk tksf[ke iw¡th lajpuk ls LorU= gksrk gSA 
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